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Solutions to smp-8802-3/HXLG

Problem quickname: 8802

1)

Calculate the result.

a) 50 — 9 = 41
d)80—7=713
) 20— 6=14
2)

Calculate the result.

a) 97+ 3 =100

d) 46 +4 =50

3)

Calculate the result.
a) 15+ 5 =20

d) 55+ 5 =160

g) 25+ 5 =230

4)

Calculate the result.
a) b0 —9 =41

d) 30 —2=28

g) 710 — 8 =62
Good Luck!
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Worksheet

b) 60 — 6 = 54 )30 —7=23
e) 80 — 3 =77 f) 60 — 4 = 56
h) 20 — 3 =17

b) 91 + 9 = 100 c) 60 — 4 = 56
) 13+ 7 =20 f) 50 — 2 = 48
b) 38 + 6 = 44 ¢) 6545 = 70
e)545=10 f) 75 + 5 = 80
b) 10 —7=3 )80 —5 =75
e) 40 — 6 = 34 £) 30 — 7 = 23
h) 80 — 4 = 76
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